

## Multiply by $10^{-1}$ (G)

Find each product.

$$3 \times 10^{-1} =$$

$$34 \times 10^{-1} =$$

$$41 \times 10^{-1} =$$

$$60 \times 10^{-1} =$$

$$79 \times 10^{-1} =$$

$$5 \times 10^{-1} =$$

$$7 \times 10^{-1} =$$

$$43 \times 10^{-1} =$$

$$25 \times 10^{-1} =$$

$$24 \times 10^{-1} =$$

$$80 \times 10^{-1} =$$

$$79 \times 10^{-1} =$$

$$35 \times 10^{-1} =$$

$$12 \times 10^{-1} =$$

$$52 \times 10^{-1} =$$

$$35 \times 10^{-1} =$$

$$92 \times 10^{-1} =$$

$$15 \times 10^{-1} =$$

$$6 \times 10^{-1} =$$

$$1 \times 10^{-1} =$$